
 
    

All wheels with center “C.R.” must be used with the aluminium center ring which is included in the fitting kit. The fitting kit is for a set of 4 wheels. 

It contains 16/20 or 24 screws or nuts, together with 4 aluminium center rings where required 

FIAT 
Car Type TYPE Size ET H. / P.C.D. Center Wheel Code Kit Code Note 

Idea Type 350 Car PCD 4 / 98 Center Bore 58 Screws   M12 x 1.25  Key 17 

 349 7.5 x 17 35 4 / 100 C.R. 349 757 D09 024 229 581  

Multipla Type 186 Car PCD 4 / 98 Center Bore 58 Screws   M12 x 1.25  Key 17 

 349 7.5 x 17 35 4 / 100 C.R. 349 757 D09 024 229 581  

Stilo Type 192 Car PCD 4 / 98 Center Bore 58 Screws   M12 x 1.25  Key 17 

 349 7.5 x 17 35 4 / 100 C.R. 349 757 D09 024 229 581  

Grande Punto Type 199 Car PCD 4 / 100 Center Bore 56.5 Screws   M12 x 1.5  Key 17 

 349 7.5 x 17 35 4 / 100 C.R. 349 757 D09 054 257 566  

 349 8.0 x 18 35 4 / 100 C.R. 349 808 D14 054 257 566  

Bravo 02/2007���� Type 198 Car PCD 4 / 98 Center Bore 58  Screws   M12 x 1.25  Key 17 

 349 7.5 x 17 35 4 / 100 C.R. 349 757 D09 024 229 581  

 349 8.0 x 18 35 4 / 100 C.R. 349 808 D14 024 229 581  

Croma Type 194 Car PCD 5 / 110 Center Bore 65 Screws   M12 x 1.5  Key 17 

 349 7.5 x 17 40 5 / 110 C.R. 349 757 D08 055 257 651  

 369 7.5 x 17 40 5 / 110 C.R. 369 757 D08 055 257 651  

 349 8.0 x 18 35 5 / 110 C.R. 349 808 D15 055 257 651  

 369 8.0 x 18 35 5 / 110 C.R. 369 808 D05 055 257 651  

 383 8.0 x 18 35 5 / 110 C.R. 383 808 B06 025 257 651  

 369 8.5 x 19 33 5 / 110 C.R. 369 859 D08 055 257 651  

 383 8.5 x 19 33 5 / 110 C.R. 383 859 B08 025 257 651  

Sedici Type FY Car PCD 5 / 114.3 Center Bore 60 Screws   M12 x 1.5  Key 17 

 349 7.5 x 17 45 5 / 114.3 C.R. 349 757 D05 055 257 601  

 369 7.5 x 17 45 5 / 114.3 C.R. 369 757 D05 055 257 601  

 349 8.0 x 18 45 5 / 114.3 C.R. 349 808 D12 055 257 601  

 369 8.0 x 18 45 5 / 114.3 C.R. 369 808 D08 055 257 601  

 383 8.0 x 18 45 5 / 114.3 C.R. 383 808 B09 025 257 601  

 343 8.5 x 19 35 5 / 114.3 C.R. 343 859 006 025 257 601  

 349 8.5 x 19 35 5 / 114.3 C.R. 349 859 D05 055 257 601  

 369 8.5 x 19 40 5 / 114.3 C.R. 369 859 D06 055 257 601  

 383 8.5 x 19 42 5 / 114.3 C.R. 383 859 B10 025 257 601  

 349 8.5 x 20 35 5 / 114.3 C.R. 349 850 D03 055 257 601  

 369 8.5 x 20 35 5 / 114.3 C.R. 369 850 D04 055 257 601  

 383 8.5 x 20 35 5 / 114.3 C.R. 383 850 B05 025 257 601  

Ulysse Type 179 Car PCD 5 / 98 Center Bore 58 Screws   M14 x 1.5  Key 19 

 349 7.5 x 17 29 5 / 98 C.R. 349 757 D01 015 459 581  

 369 7.5 x 17 29 5 / 98 C.R. 369 757 D01 015 459 581  

         

         

         

         

         

         

         

         

         

         

         

         

         

         

         

         

         

         

         

         

         

         

 


